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1.  Answer any eight from the following :
O I ST 2 TeT < 5
(@) What is C++ ?
CH+ 1%9
(b) What is an object ?
Object 57
(¢ What is class ?
Class & ?
(d) What is inheritance ?
Inheritance & ¢
() What is concrete class ?
Concrete class & ¢
()  What are data members 2P
Data members iz & &2
(9) What is a data structure ?
Data structure f& ?
(h) Give examples of non linear data structure.

" Non linear data structure 9 @?T@ﬁ‘f fazt |
()  What is sequential allocation ?

Sequential allocation & ?
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() What is LIFO?
1)(8:8

LIFO & ¢

(k) Give two examples of header files used in Ct+. _

C++3 70l header-files S Trizgel |
() What is database ?

Database & ?
(m) What is LAN ?

LAN & ?

i 2x10=20
2.  Answer any ten from the following:

oo [l w20l eE Ted Tl 8
(a) Define polymorphism.

Polymorphism-< siceel vl |

j i amming
(b) State the advantages of object oriented progr

languages. i
i ERIGISAVEER
Object oriented programming languages S bk
(c) Define member function.
MEmber function 3 7k Wl |

(d) Define constructor.

Constructor-9 7%l il

(L
3 T



(e)

(9)

(h)

()

0)

(k)

(0)

(m)

(n)
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Define pointer.

Pointer-9 7@t {52 |

Define non-primitive data structure.
Non-primitive data structure-9 el %RNI
Define two-dimensional array.
Two-dimensional array-3 sig&@ 2 |

Give examl.:)les of DBMS.

DBMS-¥ Gwiggel il |

State the categories of SQL.

SQL= eRpTE Srarel 31 |

State two uses 6f Boolean algebra. °
Boolean algebra-3 E@'W@Tﬁﬂﬁf <41 |
What is the use of Truth table ?

Truth table 3 53R &2

What is POS in Boolean algebra ?
Boolean algebra © POS f57?

What is Bandwidth ?

Bandwidth ¢

What is FTP 2

FTP f& ¢

Answer any nine from the following : 3x9=27

Oed RIcHize /5] 29 Bes 4

(@)

(b)

(¢)

(d)

(e)

)

(h)

Explain the concept of function overloading.

Function overloading ¥ -concept O CERERITE

Briefly describe the concept of base class and derived class.
Base class ®ii% derived class 3 {3 v 371 <1 |

Describe about dynamic memory allocation.

Dynamic memory allocation 3 =G I&i2 01|

Compare static data structure with dynamic data structure.
Static data structure =S dynamic data structure ¥ W&l $4I |
Write the difference between primary key and candidate key.
Primary key @ candidate key 3 i<y &4

State the applications of Karnaugh Map.

Karnaugh Map < TR S 1 |

Give ex;:lmples of different data transfer rates.
ffeq e<i<a data trans.fer RRES TwieRe faal |
Differentiate WAN and MAN.

WAN S5. MAN 9 219 forai |

Write three properties of XML.

XML I ffq5! properties |
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() State the difference_s between Worm and Trojan horse. (e) State De'Morgan’s law and explain the applications of it.

Worm 9% Trojan horse= 2li%&y 7l | . De Morgan’s law (Gl Sz T4 S OF IR 131 |
(k) Compare 3G with 4G technologies. () Explain the advantages of C++ programming language over

other programming language.
3G 9% 4GS ool 4|

9 programming language- \€7F® C++ I JRAER JeN2 &7 |
() State the uses of different aggregate functions in SQL.

SQL T aggregate function 2 IR G 4 |

(m) Describe the operations applicable to Queue.

Queue © I @Al operations FIZ I 341 |

4. Answer any three from the following :

S [z fofasr oia Sed T4l 3

Sx3=15

(@) Explain the differences between Stock and Queue.
Stock 9% Queue-9 sieferTz 32, ferall |

(b) Write a C++ program to create a ‘matrix of order 4x4,
@Bl 4x4 matrix create $fFE AE C++ © ot program &3]

(¢) Explain three different network topologies.
FSMB! network topology = ﬁﬂ?ﬂ@ﬂ? feral |

(d) Explain the concept of Cyber Law and Cyber Crimes.

‘Cyber Law W% Cyber Crime 3 RaCI J&i3 fyeyy
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